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FEEIgGN ~BK|l m / n |FEB|5%kEEEs ~ 5K x /v |FHEDN ~BXK[m / n |[EHEN ~BKXK[m /n 15 =/~ mKA m / n
19 75 ~80 ] 0/ 12|07 07 |<05 ~10 | 0/ 12] 4 | <1 ~ 22 0/ 12] 10| 84 ~ 13 0 / 12 |[35E+03[1.1E+02 ~ 1.1E+04| 12 / 12
20| 75~81 | 0/12]07 09 |<05~10 | 0/ 12 2| <1 ~38 0/12] 10| 80 ~ 13 0 / 12 |1.3E+04| 4.9E+02 ~ 92E+04| 12 / 12
21| 76 ~83 | 0/ 12]08| 09 |<05~18 | 1 /12| 2| <1 ~3 0/12] 10| 85 ~ 13 0 / 12 | 7.5E+03| 1.3E+02 ~ 5.4E+04| 12 / 12
2| 74 ~83 | 0/ 12]07 08 <05 ~17 | 1 /1201 3] <1 ~10 0/12]95| 68 ~ 12 1 / 12 |8.0E+03| 1.1E+03 ~ 3.3E+04| 12 / 12
23| 76 ~94 | 2 /12| 06| <05 [<05 ~ 1.1 1/712] 1 A~ 2 0/ 12|99 81 ~ 12 0 / 12 |4.2E+03|3.3E+02 ~ 1.3E+04| 12 / 12
24| 75 ~93 | 1 /12|05 05 <05 ~07 | 0/ 12] 1 1 ~3 0/12]99| 83 ~ 12 0 / 12 |8.0E+03|2.2E+02 ~ 49E+04| 12 / 12
25| 75 ~88 | 2/ 12]05 05 |<05~07 | 0/ 12] 1 1~ 3 0/12]98| 76 ~ 12 0 / 12 |9.7E+03|9.7E+01 ~ 7.9E+04| 12 / 12
26 | 75 ~91 | 2 /12| 06| <05 [<05~09 | 0/ 12| 1 1~ 4 0/12] 10| 83 ~ 12 0 / 12 |2.3E+03| 2.3E+02 ~ 49E+03| 12 / 12
27| 77 ~80 | 0 /12| 05| <05 [<05~10 | 0/ 12] 2| <1 ~4 0/12] 10| 85 ~ 13 0 / 12 |6.3E+03| 2.3E+01 ~ 5.4E+04| 11 / 12
28| 75 ~83 | 0 /12]05] <05 [<05 ~05 | 0/ 12] 1 1~ 1 0/12] 10| 86 ~ 12 0 / 12 |1.1E+04| 1.1E+02 ~ 79E+04| 12 / 12
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